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1. Solve	: 	+	

	
	(x+1)

	
	6

	
	(x−2)

	
	3

=

	
	(x+3)

	
	18

(i) 5
4 (ii) 1

2 (iii) 3
2 (iv) 2 (v) 5

2

2. Solve	: 	+	

	
	(−x−1)

	
	2

	
	(x+2)

	
	7

=	
	(x−4)

(i) 19
7 (ii) 49

17 (iii) 53
19 (iv) 51

19 (v) 55
19

3. Solve	: 	+	

	
	(x+4)

	
	16

	
	(−x+3)=

	
	(−x−3)

	
	8

(i) 60
13 (ii) 56

13 (iii) 50
11 (iv) 58

13 (v) 22
5

4. Solve	: 	+		
	(−x−4)

	
	x

	
	4

=

	
	(x+2)

	
	2

(i) -5 (ii) -3 (iii) -2 (iv) -4 (v) -7

5. Solve	: 	+		
	(−x−2)

	
	(x+5)

	
	16

=	
	(−x+2)

(i) 58 (ii) 60 (iii) 59 (iv) 62 (v) 57

6. Solve	: 		 (x+3)2 =

	
	(x−4)

	
	14

(i) ( -94
29 ) (ii) ( -10

3 ) (iii) ( -82
25 ) (iv) ( -88

27 ) (v) ( -86
27 )



7. Solve	: 	+	

	
	(x−5)

	
	5

	
	(−x+5)

	
	3

=

	
	(x−2)

	
	2

(i) 52
19 (ii) 50

19 (iii) 18
7 (iv) 48

19 (v) 46
17

8. Solve	: 	+	

	
	(−5x+5)

	
	12

	
	(4x−4)

	
	2

=

	
	(2x−4)

	
	6

(i) 3
5 (ii) 11

13 (iii) 11
17 (iv) 11

15 (v) 13
15

9. Solve	: 	+	

	
	(−x−4)

	
	6

	
	(−2x−5)

	
	2

=	
	(4x−4)

(i) 5
31 (ii) 5

33 (iii) 3
31 (iv) 7

31 (v) 5
29

10. Solve	: 	+	

	
	(2x+3)

	
	5

	
	(−3x−4)=

	
	(5x+2)

	
	10

(i) ( -38
33 ) (ii) ( -36

31 ) (iii) ( -38
31 ) (iv) ( -34

31 ) (v) ( -34
29 )

11. Solve	: 	+		
	(−x+3)

	
	(−2x−5)

	
	2

=

	
	(−5x+2)

	
	7

(i) 1
2 (ii) ( -1

6 ) (iii) 1
6 (iv) 1

8 (v) 1
4

12. Solve	: 	+		
	(−2x−3)

	
	(−3x+1)

	
	2

=	
	(−3x+1)

(i) -7 (ii) -8 (iii) -4 (iv) -6 (v) -10

13. Solve	: 	+		
	(3x−2) 	

	(−2x−4)=

	
	(4x+3)

	
	14

(i) 17
2 (ii) 71

8 (iii) 87
10 (iv) 89

10 (v) 103
12



14. Solve	: 	+	

	
	(−5x)

	
	8

	
	(2x+2)

	
	7

=

	
	(−5x−3)

	
	4

(i) ( -60
53 ) (ii) ( -20

17 ) (iii) ( -56
51 ) (iv) ( -58

51 ) (v) ( -8
7 )

15. Solve	:

	
	(−x−9)

	
	(2x+2)

=

	
	(−x+5)

	
	(2x+6)

(i) -1 (ii) -4 (iii) 1 (iv) -2 (v) -3

16. Solve	:

	
	(−5)

	
	(8x−3)

=

	
	6

	
	(8x+7)

(i) ( -19
88 ) (ii) ( -17

90 ) (iii) ( -17
88 ) (iv) ( -17

86 ) (v) ( -15
88 )

17. Solve	:

	
	(3x+3)

	
	(7x−8)

=

	
	(−6)

	
	(−5)

(i) 5
3 (ii) 7

3 (iii) 11
5 (iv) 3

18. Solve	: 	−	 	−	

	
	6

	
	(x−8)

	
	5

	
	(x+8)

=	−	

	
	11

	
	x

(i) -88 (ii) -89 (iii) -90 (iv) -87 (v) -85

19. Solve	: 	+	

	
	8

	
	(x−5)

	
	9

	
	(x+5)

=

	
	17

	
	x

(i) 87 (ii) 86 (iii) 84 (iv) 83 (v) 85

20. Solve	: 	−	 	+	

	
	9

	
	(x−9)

	
	5

	
	(x+6)

=	−	 	+	

	
	6

	
	(x+6)

	
	2

	
	(x−2)

(i) 412
151 (ii) 414

151 (iii) 418
153 (iv) 410

149 (v) 416
151

21. Solve	: 	−	 	−	

	
	2

	
	(x+2)

	
	1

	
	(x+3)

=	−	 	+	

	
	4

	
	(x+3)

	
	1

	
	(x−1)

(i) 1 (ii) -4 (iii) -1 (iv) -2 (v) 0



 1)	(iii)  2)	(iii)  3)	(iv)  4)	(iv)  5)	(iii)  6)	(iv)

 7)	(ii)  8)	(iv)  9)	(i)  10)	(ii)  11)	(iii)  12)	(i)

 13)	(iii)  14)	(iv)  15)	(iv)  16)	(iii)  17)	(ii)  18)	(i)

 19)	(v)  20)	(ii)  21)	(iii)
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